
;+s]t g+= of]hgf tyf sfo{s|dx? of]hgf :yn ljlgof]lht ah]6 ?= >dbfg s}lkmot

10 cfly{s ljsf; lq=g=g=kf= * 172800
1010 s[lif lq=g=g=kf= * 129600

a]df};ld t/sf/L v]tLsf nflu knfil6|s 6g]n lgdf{0f lq=g=g=kf= * 129600
1040 ;xsf/L lq=g=g=kf= * 43200

;xsf/L Joj:yfkg lq=g=g=kf= * 43200
20 ;fdflhs ljsf; lq=g=g=kf= * 2505600
2010 lzIff lq=g=g=kf= * 1339200

kGreof/ dflj lkmN8 lgdf{0f lq=g=g=kf= * 259200 s|dfut

hfgls dflj d}b] lkmN8 lgdf{0f lq=g=g=kf= * 216000 s|dfut

di6 k|f=lj e/ufp 5fgf dd{t lq=g=g=kf= * 86400
lxdfno k|f=lj d+l;/L 5fgf dd{t lq=g=g=kf= * 86400
u0f]z k|f=lj dfn'jft/f ejg dd{t lq=g=g=kf= * 86400
g]=/f=k|f=lj n'kfgf lkmN8 dd{t lq=g=g=kf= * 86400
;"o{ls/0f k|f=lj xNrf}/ lkmN8 dd{t lq=g=g=kf= * 259200 s|dfut

hgsNofg k|f=lj sfe|f lkmN8 dd{t lq=g=g=kf= * 86400
n]s a]lz k|f=lj zf}rfno dd{t lq=g=g=kf= * 86400
di7f k|f=lj sfov]t zf}rfno dd{t lq=g=g=kf= * 86400

2020 :jf:Yo lq=g=g=kf= * 518400
;fd'bflos :jf:Yo s]Gb| ejg lgdf{0f lq=g=g=kf= * 518400

2040 ;+:s[lt k|j{4g lq=g=g=kf= * 86400
k~r]jfhf vl/b tyf dd{t lq=g=g=kf= * 86400

2060 ;dfj]zLs/0f lq=g=g=kf= * 561600
hghflt, blnt, ckf+u , h]i7 gful/s sfo{s|d lq=g=g=kf= * 172800
ljkGg jfnjflnsfsf] nflu kf]zfs / z}lIfs ;fdfu|L vl/b lq=g=g=kf= * 129600
dlxnf :jf:Yo :jo+;]ljsfsf] nflu k|f]T;fxg eQf lq=g=g=kf= * 86400
dlxnf tyf blnt dlxnfsf] nflu l;nfO{s6fO{ tflnd lq=g=g=kf= * 172800

30 k'jf{wf/ ljsf; lq=g=g=kf= * 7770916
3010 :yfgLo ;8s k'n emf]=k'= lq=g=g=kf= * 5616000

sfofv]t lhs'jf sfe|f, bf]v' n'kfgf, d+l;/L e/ufpF ;8s lgdf{0f lq=g=g=kf= * 2764800 s|dfut

sfov]t tf;] lhs'jf ;8s dd{t lq=g=g=kf= * 1900800

 gnuf8 gu/kflnsf 

gu/ sfo{kflnsfsf] sfof{no
 hfh/sf]6 .

gnuf8 gu/kflnsf j8f g+= * cGt{ut cfly{s jif{ @)&$.&% df sfof{Gjog x'g] of]hgfx?



xnrf}/ b]lv bf]v'vf]nf ;Dd 3f]=jf lgdf{0f lq=g=g=kf= * 86400
xnrf}/ b]lv /fd|f 3f]=jf=lgdf{0f lq=g=g=kf= * 691200 s|dfut

wfgsDb /f]6] 3f]=jf=lgdf{0f lq=g=g=kf= * 172800
3020 l;+rfO{ lq=g=g=kf= * 1036800

elSsg] ;fpg] d'n l;+rfO{ lq=g=g=kf= * 172800
efu|]vf]nf ;'cf/f lhs'jf l;rfO{ dd{t lq=g=g=kf= * 172800
5x/]vf]nf sf]l/Gr] l;+rfO{ of]hgf lgdf{0f lq=g=g=kf= * 432000 s|dfut

sfkmnwf/f sf8f n'kfgf l;+rfO{ dd{t lq=g=g=kf= * 259200
3030 ejg lgdf{0f lq=g=g=kf= * 124516

;fljssf] uf=lj=;=ejg dd{t lq=g=g=kf= * 124516
3040 phf{÷hnljB't lq=g=g=kf= * 993600

xnrf}/ ljw't nfO{g lj:tf/ lq=g=g=kf= * 345600 s|dfut

d+l;/L ljw't nfO{g lj:tf/ lq=g=g=kf= * 432000
bf]v'vf]nf ljw't kf]n vl/b tyf dd{t lq=g=g=kf= * 216000

40 jftfj/0f tyf ljkt Joj:yfkg lq=g=g=kf= * 172800
4060 ljkb Joj:yfkg lq=g=g=kf= * 172800

ljkt Joj:yfkg sf]if lq=g=g=kf= * 172800
50 ;+:yfut ljsf; tyf ;]jf k|jfx / ;'zf;g lq=g=g=kf= * 475200

5050 :yfgLo tYof+s ;+sng / clen]v Joj:yfkg lq=g=g=kf= * 345600
j8f sfof{no Joj:yfkg lq=g=g=kf= * 216000
c:yfoL k|x/L kf]i6 sfof{no Joj:yfkg lq=g=g=kf= * 43200
Snjsf] ;fdfu|L vl/b tyf ljt/0f lq=g=g=kf= * 86400

5080 cGoq juL{s/0f gePsf] lq=g=g=kf= * 129600
hDdf /sd ?= 11097316


